AT SEUAER SN SEZHD
Hu: YUY AW FH(SFHLLM/5Y - 58)
ool SYRFEIY RS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SEMAE= 241,867,420 245,502,563 A 3,635,143
= 96,341,084
Xl 57,291,000
J| 13,819,201
< 74,416,135
sEE ML 55,790,041 68,660,463 A 12,870,422
= 4,396,522
Xl 42,347,000
J| 343,101
< 8,703,418
2= Y M (sHHLd /s - &) 9,877,087 12,790,242 22,913,155
= 2,226,214
Xl 4,542,000
J| 343,101
< 2,765,772
sIYEIE 2= 5,067,101 8,162,701 23,095,600
Xl 4,542,000
J| 343,101
< 182,000
s -s& J3dH =22 ANHFA 148,000 65,000 83,000
201 Let2d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OZ2=sd HHEA 29Y 5,000
202 04l 79,000 0 79,000
01 = LH 4 Hi 30,000 0 30,000
ONHEZ o &0 30,000
03 =Rl 27,000 0 27,000
O=s&EAM P =3 27,000
04 =Xl =t 0d H 22,000 0 22,000
O=Z A off 2 A= 22,000
203 R =&l 61,000 65,000 24,000
03 A FAH S =AY 61,000 65,000 24,000
OSEMY AW 2 AM =T 61,000
301 et A=z 3,000 0 3,000
09 &AL HIZB &S 3,000 0 3,000
Osgad 2ds 29 3,000
NEHSAZAASH(S1) 3,604,000 5,700,000 A 2,096,000
X 3,604,000
403 A X EHHSH20IA 3,604,000 5,700,000 A 2,096,000
Xl 3,604,000
01 XM A=E L 3,604,000 5,700,000 A 2,096,000
OgELYEY 3,604,000
Xl 3,604,000
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A SEUAER SN SEZHI
HE: YRS I FA(SYHLLM/5Y - 55)
el AL 2 (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SEXNSE M XNB(2) 800,000 0 800,000
X 800,000
403 UHXSHHSA=0l& 800,000 0 800,000
Xl 800,000
01 X SHHMA=E L 800,000 0 800,000
O 6xt&tH3 XA 800,000
Xl 800,000
SUSHMFSIIRRF(21) 113,000 1,935,000 A 1,822,000
Xl 113,000
403 UtXISHH S0l & 113,000 1,935,000 A 1,822,000
Xl 113,000
01 X SHMA=2EE 113,000 1,935,000 A 1,822,000
OsttE digsSI|et s X& 113,000
Xl 113,000
SELGE I8 - OHHA 2H(=12) 50,000 28,000 22,000
Xl 25,000
< 25,000
307 21201 A 50,000 28,000 22,000
Xl 25,000
< 25,000
02 IAHFAAHEX 50,000 28,000 22,000
OsE4tdst D= - BIOLMAH == 50,000
Xl 25,000
< 25,000
IoHE2EdAE & HEXNA 29 2,000 0 2,000
202 Odl 2,000 0 2,000
01 = LH 4 Hi 2,000 0 2,000
O FTA THE =& 2,000
sAolgzel N (=21) 350, 101 350, 101 0
J| 343,101
< 7,000
202 o4dl 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OsANEE & 3t & ELES 7,000
308 XtXIEHH SOl A 343,101 343,101 0
J| 343,101
01 X HHILEXS 343,101 343,101 0
OsXolg2e XN& 343,101
J| 343,101
SEOHXI &2 2 ga 3,170,896 3,295,884 A 124,988
= 1,600,914
< 1,569,982
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A= SFMAER 22X s3I
Hu: YASENY HAH (STHLN/5Y - 5&)
o9 5% 5= Y BHE (B9 ®R)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
SESESSNMY 45 (=) 1,162,400 0 1,162,400
= 719,000
& 443,400
307 2Iz2t0| A 808,400 0 808,400
= 419,000
= 389,400
02 QIZHEAAIRE E X 808,400 0 808,400
O6XAIE G AIKFT2 )2 29 2 A S EH I} 708,400
2 369,000
=} 339,400
OANECHEER *5 100,000
= 50,000
& 50,000
403 XX SHHS K201 & 354,000 0 354,000
= 300,000
& 54,000
01 XIS A2E X 354,000 0 354,000
OXHAHMISEAYE 2EXRA 177,000
= 150,000
= 27,000
O6X A S =SE8sd74 177,000
= 150,000
o 27,000
HsHE 3 =X 191,600 61,600 130,000
307 2I2t0| & 20,000 40,000 A 20,000
02 QI2tAMAIE E X 20,000 40,000 A 20,000
OHAsHE &Y 23 20,000
308 XX EHSOIA 171,600 21,600 150,000
P EYEREES 171,600 21,600 150,000
OAsHE stz )d 24 21,600
OH=0 = X 150,000
TAB s=8X XN (=21D) 360,000 240,000 120,000
= 300,000
= 60,000
308 XX SHHSOIH 360,000 240,000 120,000
= 300,000
o= 60,000
01 AIXSHMENMNEXZ 360,000 240,000 120,000
OZANB sE=ERX X 360,000
= 300,000
= 60,000
SE2ZI|Et &= 309,383 3,744,321 N 3,434,938
= 91,537
N 210,000
& 7,846
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A SEUAER SN SEFHI
HE: YASENRY HASH(SYHS LM /5Y - 5&)
Sol SEIIY HE EERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET

SEMENS =4 (-8 ) 210,000 189,000 21,000
X 210,000

403 UHXSHHSA=0l& 210,000 189,000 21,000
Xl 210,000

01 X SHHMA=E L 210,000 189,000 21,000
OsZHEils =4 (S=48X9) 210,000
Xl 210,000

JAEHAZEINEM(=2) 99,383 80,321 19,062
= 91,537
< 7,846

308 XXM SO0 A 99,383 80,321 19,062
= 91,537
< 7,846

01 IXNHHBNEES 99,383 80,321 19,062
OFZR - RSESES PNR==PN| 99,383
= 91,537
< 7,846

sEXNS e 41,593,500 49,387,600 AT,794,100
= 206,000
Xl 37,595,000
= 3,792,500

A SEFIHAIG (S D-LER) 1,614,000 6,462,000 A 4,848,000
Xl 1,614,000

403 MRS E X201 E 1,614,000 6,462,000 A 4,848,000
Xl 1,614,000

01 X SHHAN2E = 1,614,000 6,462,000 A 4,848,000
SENS SN 1,614,000
Xl 1,614,000

Ao SEIHUAY(ZR-sAER) 30,940,000 36,306,000 25,366,000
Xl 30,940,000

403 MHXSHHSA=0l& 30,940,000 36,306,000 5,366,000
X 30,940,000

01 X ESHHMA=LE XL 30,940,000 36,306,000 25,366,000
sE0tSs MY 30,940,000
Xl 30,940,000

OS2I 8 MsHEHE2s =8 95,000 93,000 2,000

201 Let24E] 45,000 43,000 2,000

01 At 2t 2l 25,000 23,000 2,000
OO0t AN&A &I M 6,000
o022 &3 A}3 =24 19,000

03 A2 Z Hl 20,000 20,000 0
O<=0t2 sdleld A= 20,000

202 044l 20,000 20,000 0
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42 SHHAER SN sEFHDY
HE: YASENRY HASH(SYHS LM /5Y - 5&)
Chel sEXY e (&)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

01 = LH 4 bl 20,000 20,000 0
CERNIENE-I-EES 20,000

307 21201 A 30,000 30,000 0

02 LB AAFEX 30,000 30,000 0
O<==0t2 XNZA OoatOoIE =24 30,000

OISJIgE MsOHEHERS 20t &F X 3,600,000 4,560,000 A960,000

403 A X EHHS =0l A 3,600,000 4,560,000 A960,000

01 X EHHMA=LE L 3,600,000 4,560,000 A960,000
OMsOUHEUE2E 202 &3 & 1,800,000
OMs0E 2202 2XEI XA (13684 H) 1,800,000

2EH OISUHSI(ME - 25)(=21) 452,000 420,000 32,000
X 452,000

403 XIS E X201 H 452,000 420,000 32,000
Xl 452,000

01 X SHHAN2E = 452,000 420,000 32,000
ONtSHAZM(ME - A5) 452,000
Xl 452,000

EXN QI22¢AsI(Es2% - =SX)(21) 576,000 198,000 378,000
Xl 576,000

403 Mt S S X201 & 576,000 198,000 378,000
X 576,000

01 X ESHHMA=2LE L 576,000 198,000 378,000
ontste 2 2stx4d X2 576,000
Xl 576,000

AN OISUSI(22 - ME)(21) 866,000 144,000 722,000
X 866,000

403 MtXISHH S0l & 866,000 144,000 722,000
Xl 866,000

01 XM A2E X 866,000 144,000 722,000
OllSHS T (ZFZME) 866,000
Xl 866,000

2xN O0lg HSI(ANZ2FY)(=21) 2,606,000 668,000 1,938,000
Xl 2,606,000

403 MtXISHE X201 & 2,606,000 668,000 1,938,000
Xl 2,606,000

01 XS M A=2EE 2,606,000 668,000 1,938,000
SZE0t2 XIS 0t0ICI O (D1E}) 2,606,000
Xl 2,606,000

sE SH#3ZY JA(=21) 201,500 156,600 44,900
= 155,000
< 46,500

308 XX EHH SOl A 201,500 156,600 44,900

- 249 -




42 SHHAER SN sEFHDY
HE: YASENRY HASH(SYHS LM /5Y - 5&)
Chel sEXY e (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 755,000
< 46,500
01 IXNHHBNEES 201,500 156,600 44,900
O=sZ &dx%d N3 201,500
= 155,000
< 46,500
sEE43 N2dH 22 XNE(22) 102,000 100,000 2,000
= 51,000
< 51,000
307 21201 A 102,000 100,000 2,000
= 51,000
< 51,000
02 ItFAAFE R 102,000 100,000 2,000
O==g4ds NJAdH XA 102,000
2 51,000
= 51,000
sENY NFgder2s(=21) 385,000 280,000 105,000
X 385,000
403 UHXSHHSA=0l& 385,000 280,000 105,000
X 385,000
01 HXESHMA=E X 385,000 280,000 105,000
Os&ENg NIz s X 385,000
Xl 385,000
EXZXNSAE(22) 156,000 0 156,000
Xl 156,000
403 MtXISHHE A0l & 156,000 0 156,000
Xl 156,000
01 XM A=2EE 156,000 0 156,000
O =M0t2 =4 156,000
Xl 156,000
HE2LA U (SEZ ) (JIEH/IIE) 70,800 70,700 100
JlE3l 70,800 70,700 100
2FA2Y JIE23H 70,800 70,700 100
201 LBt 50,300 50,200 100
01 At 22l 39,000 39,000 0
ORAN2Y AR22lt| 39,000
02 =224l 11,300 11,200 100
ORNME2Y 3329t 1,300
OFA(ZHHEAS=AIIR)ZES 10,000
202 4l 10,300 10,300 0
01 = LH 4 Hi 10,300 10,300 0
ORNE2Y =UHAHHI 10,300
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